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a) E;ix, =X, +2x, =7

E, 16X, +X,—X;=—7

1 Y x3=
linSolve( i S ,{x],xZ,x.’:‘})
6 x1+x2—x3=-7

-¢1 13-c¢1 g:
— -7,c1

7 7

Mittzlc:
7

b) E,:x,+5%,=8;

E, X +X,+X; =1

745 ¥ 3=
linSolve({'\H" i ,{x],x’.?,x.%‘}

x1+x2+x3=1

{8-5- 2,4 c2-7,c2}

Mitt=c:

8

g:X=|-7|+t-| 4
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c) E,:3x,+2x,—-2x, =-1;

E,:x,—4X,-2%x,=9

X

7 7

Mitt=1c:
7

d) E,:4x,=5;

4- x2=

linSolve({ o
6-x7

E, :6x,+5x,=0

Mittzlc:
6

5
,{x 1:x2.3 }
+5- x3=0
{—s- 4 5
:—sC4
6 4
g 5
X=|—|[+t:| O
g 4 +
0 6

3o x1+2r x2-2" x3=-
linSolve( XAkarLa edmcl ,{x] X2XS })
x1-4 x2-2'x3=9

6-¢3 _ -2:¢3 g:Xx
+1, -2,63

} g:X=

| ==-7

8-5c

o

Bestimmen Sie die Schnittgerade der Ebenen E; und E,.
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